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5. How is a neutral gold atom differ than a neutral copper atom? How are they similar?
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3. Circle {or list) all neutral atoms in the chart above.
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4. Star (or list) all the ions.
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6. If you know the atomic number of an element what other information can you figure out about the atom?

= TC}"Q‘F\’%—EHWE' &‘-( 3 {\5\_ ,ﬂ\@v*‘“‘-(

- @w wgb&d{fhi LA g_/\{:?ifkj é"ﬁm@ﬁ&—}i@{’ D -Méﬁ L S

of ' and E@ > I the mucleus. A& carbon isotope that bas Ei_{z-)f;g'-_* arnd
Mm is jdentified as carbon-12 where 12 1s the atomic mass number. A carbon [Sotopes
hawving & _‘L and®_ Y onthe ather hand is carbors-14,
2. Fillin the chart.
Element Name Symbol Atomic# | Mass# # of p* #ofe | #ofn Atomic -
7 Mass
32 o
Vi Sulfue S 1l 32| lu |l ] b 2.0l
i -} —
w2 Bromine @ (_,q m&% 5%‘* % S 36 43 ??.%
82 208 ' +2
# lead (T) | Pb% $2 RO |12 2072
. 204 78 78 ,
v Hlat auaa Pt ¥ (2 | © |[95.0
. ‘ 51 ;
A Chomum | 7 24 |S] |29 29| 27| © |59
‘ : 25 21 17 e
3 Magsges | M 26| 42 ~ +3 154,93
8 8 - 14.01
5 M. '{5@&’%.@ il ;\\5 7 f =N ? i;
- 16 35 ; -2
H S\mmf 5 e 1€ ] 19 22,0
3 ; 0 .
V| bedosgn | 1\ 15 L 1] Z [.oO
. 17 . 18 9 ;
* CM&@ cy! 25 | |17 <\ %845

(b

oLd

AT



10.

11.

12.

13.

14.

15.

What does a net charge of +3 mean? What does a net charge of -3 mean?
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How does an atom differ than an ion?
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Where do you find the mass in the atom?
n e ewcteun,

How does the mass number of each isotope compare to the atomic mass given on the periodic table?
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How are the following isotopes different? Similar?

Draw a model of 2H and lahel the protons electrons neutrons electron cloud, nucleus.
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Give an example of an atom that is neutral with a mass number of 10. Answers may vary.
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Give an example of an ion that has a charge of +1. How many protons and electrons are in your ion
example? Answers may vary. ] %
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Give an example an ion that has a charge of -3. How many protons and electrons are in your ion example?
Answers may vary. ; géé



